. 3+43=_¢6
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G2-Mé-Lesson 19

1. Skip-count the columns in the array. The first one has been done for you.

o0 O 0 OO0
o o0 O 0 OO0

2 4 & B 10 12
2. Solve.
1+1=_ 2 1+4=_ B
242=_ 4 54+5= 1§
6+6= 12

3 _\_A.J'.:ri't'é'to identify the bold numbers as even or odd.

| can skip-count by 2's using the
columns of the array. If | keep adding
columns of 2 to this pattern, | can say,
“.,14,16,18, 20" There’s a pattern
in the ones place! 0,2, 4, 6, 8.

When | find doubles, | see a
pattern in the answers; they
are skip-counting by 2's.

24+1=25 24 ~1=23

even 4+ 1 = odd gven — 1 = pd

When | add 1 to or subtract
1 from an even number, the
new number is always odd!

4. s the bold number even or odd? Circle the answer, and explain how you know,

39 Explanation:

even(Gaa)

This number does nothave §, 2, 4, 6, or B i the pnes

ploce, Fknow that 40 is even, so 40 — 1 has # e odd.

place, and relate to odd numbers.
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Lesson 13: lnvestigate'the pattern of even numbers: 0, 2, 4, 6, and 8.in the cnes 21




